[image: image1.png]HI-IQ Products .




P.O. Box 1198
Camarillo, CA  93011-1198

Phone: (805) 484-2454, FAX: (805) 383-5909

E-mail: hlee@flatmonitors.com
Websites:  www.flatmonitors.com and www.peizen.com
Assembly Instructions

 For

Q-2050-RK Triple-Hinged Rackmount Kit onto

Samsung 940T-Black 19” TFT LCD Monitor

Tool required:

1. No. 2 Phillips screwdriver

2. 3/8” Socket wrench 

3. 3/8” Crescent wrench

4. Tie wrap tool

5. Wire cutter, angled tip is recommended

Procedures:

1. It is a good idea to power up and test the monitor before assembling it onto the rackmount kit, just in case if there is any problem with it (usually very rare).  Otherwise, you may do all the work below and then have to un-do it.  If the monitor is working fine, then lay the foam packing material that came in the box over a flat surface on a table or workbench.  The lay the monitor facing down over the soft foam.  

2. Use a No. 2 Phillips screwdriver to remove the stand from the monitor by loosening its two metric screws and washers.   Note:  Please store the stand with its metric screws in the box the monitor came in.  In case of warranty service, you will need to re-assemble the stand back onto the monitor.  

3. Place the Q-75mm 3.50” X 3.50” X 0.50” PVC spacer block over the 75 mm-center VESA mounting holes in the back of the monitor.

[image: image2.jpg]



4. Place the pre-assembled Q-2050-RK over the back of the monitor.  Find four VESA mounting holes over the monitor for the best fit.  Insert a 4 mm X 25 mm metric screw, No. 8 lock washer, and No. 8 flat washer into each VESA mounting hole and then secure the rackmount kit onto the monitor.

[image: image3.jpg]



5. Insert the VGA (and/or DVI-D) and the power adapter cables onto the monitor.  Then secure the cables with cable clamps and tie wraps.

6. Mount the assembly onto the rack. On the left side, mount two 10-32 X ¾” short black screws into the top and bottom holes.  Mount two 10-32 X 1” long black screws into the two middle holes.  The longer screws will be used to secure the cables in the backside.

7. Before securing the right side, remove the two thumbscrews on the left and then swing open the assembly.

[image: image4.jpg]



CAUTION:  When the monitor is swung open, be sure there is enough clearance for the monitor screen.  After all, it is made of glass.  Also, be sure to put on a CAUTION flag so that people won’t bump into it.

8. Remove the hinge locking clip from its holder and lock the hinge with the hinge lock clip as shown blow:

[image: image5.jpg]



9. Secure the power and VGA (and/or DVI-D) cables onto the backside of the left rails.  Slip two cable clamps over the cables and insert a cable clamp onto each 10-32 X 1” black screw.  Then secure each with a No. 10 flat washer and a 10-32 hex nut.

[image: image6.jpg]D




10. Unclip the hinge locking clip and return it back to the cable clamp as shown below:

[image: image7.jpg]



11.   Close the rackmount monitor and secure it with two thumbnail screws.

[image: image8.jpg]



12.   Congratulations!  You have completed assembling one of the best-looking 19” rackmount monitor in the world.  If you have any questions or comments, please call Harry Lee toll-free at 1-866-484-2454 or e-mail to hlee@flatmonitors.com.
PAGE  
1
                                                                                                 of  5


